

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	Police Department Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	330.00000	3,960.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	370.00000	4,440.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	291.00000	3,492.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	560.00000	6,720.00	
3319	1	Terminix International	Faye Lively				12.0000	385.00000	4,620.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	I & D WATER PEST CONTROL		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro	M Williams	5678			12.0000	185.00000	2,220.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
685	2	Pest Control Cox Termite & Pest Control	K Potts	2095			12.0000	185.00000	2,220.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	105.00000	1,260.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	280.00000	3,360.00	
3319	1	Terminix International	Faye Lively				12.0000	210.00000	2,520.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	Leisure Services Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	815.00000	9,780.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	875.00000	10,500.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	630.00000	7,560.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	1250.00000	15,000.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3319	1	Terminix International	Faye Lively				12.0000	1260.00000	15,120.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	Park & Tree Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	140.00000	1,680.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	135.00000	1,620.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	77.00000	924.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	200.00000	2,400.00	
3319	1	Terminix International	Faye Lively				12.0000	150.00000	1,800.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	Civic Centere Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	125.00000	1,500.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	150.00000	1,800.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	180.00000	2,160.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	200.00000	2,400.00	
3319	1	Terminix International	Faye Lively				12.0000	200.00000	2,400.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	Cemeteries Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro	M Williams	5678			12.0000	175.00000	2,100.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
685	2	Pest Control Cox Termite & Pest Control	K Potts	2095			12.0000	195.00000	2,340.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	109.00000	1,308.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	290.00000	3,480.00	
3319	1	Terminix International	Faye Lively				12.0000	230.00000	2,760.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	Water Reclamation Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	170.00000	2,040.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	155.00000	1,860.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	82.00000	984.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	210.00000	2,520.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3319	1	Terminix International	Faye Lively				12.0000	585.00000	7,020.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	Vehicle Maintenance Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	55.00000	660.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	70.00000	840.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	30.00000	360.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	80.00000	960.00	
3319	1	Terminix International	Faye Lively				12.0000	70.00000	840.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	Conveyance Facility Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	45.00000	540.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	35.00000	420.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	12.00000	144.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	
3319	1	Terminix International	Faye Lively				12.0000	35.00000	420.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	Water Supply Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro	M Williams	5678			12.0000	30.00000	360.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
685	2	Pest Control Cox Termite & Pest Control	K Potts	2095			12.0000	35.00000	420.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	15.00000	180.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	
3319	1	Terminix International	Faye Lively				12.0000	35.00000	420.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	City Lot Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	245.00000	2,940.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	260.00000	3,120.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	152.00000	1,824.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	365.00000	4,380.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3319	1	Terminix International	Faye Lively				12.0000	490.00000	5,880.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	Sanitation Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	90.00000	1,080.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	100.00000	1,200.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	60.00000	720.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	160.00000	1,920.00	
3319	1	Terminix International	Faye Lively				12.0000	435.00000	5,220.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	Parking Services Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	100.00000	1,200.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	125.00000	1,500.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	60.00000	720.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	250.00000	3,000.00	
3319	1	Terminix International	Faye Lively				12.0000	125.00000	1,500.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	Community Services Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro	M Williams	5678			12.0000	40.00000	480.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
685	2	Pest Control Cox Termite & Pest Control	K Potts	2095			12.0000	35.00000	420.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	15.00000	180.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	
3319	1	Terminix International	Faye Lively				12.0000	30.00000	360.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	Entrepreneur Center Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	45.00000	540.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	35.00000	420.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	15.00000	180.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3319	1	Terminix International	Faye Lively				12.0000	25.00000	300.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	Hospitality Center Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	20.00000	240.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	35.00000	420.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	15.00000	180.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	
3319	1	Terminix International	Faye Lively				12.0000	75.00000	900.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	City Hall Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	75.00000	900.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	125.00000	1,500.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	45.00000	540.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	125.00000	1,500.00	
3319	1	Terminix International	Faye Lively				12.0000	100.00000	1,200.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	Gamble Building Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro	M Williams	5678			12.0000	75.00000	900.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
685	2	Pest Control Cox Termite & Pest Control	K Potts	2095			12.0000	85.00000	1,020.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	60.00000	720.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	125.00000	1,500.00	
3319	1	Terminix International	Faye Lively				12.0000	100.00000	1,200.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	Broughton Mun. Bldg Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	60.00000	720.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	85.00000	1,020.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	75.00000	900.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3319	1	Terminix International	Faye Lively				12.0000	100.00000	1,200.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	Fire Department Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	425.00000	5,100.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	445.00000	5,340.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	340.00000	4,080.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	680.00000	8,160.00	
3319	1	Terminix International	Faye Lively				12.0000	720.00000	8,640.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
21	Stormwater Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	140.00000	1,680.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	175.00000	2,100.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	84.00000	1,008.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	280.00000	3,360.00	
3319	1	Terminix International	Faye Lively				12.0000	280.00000	3,360.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
22	Coastal Workforce Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro	M Williams	5678			12.0000	48.00000	576.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
685	2	Pest Control Cox Termite & Pest Control	K Potts	2095			12.0000	140.00000	1,680.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	60.00000	720.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	100.00000	1,200.00	
3319	1	Terminix International	Faye Lively				12.0000	120.00000	1,440.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
23	Housing Rehab Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro)	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	35.00000	420.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	45.00000	540.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	15.00000	180.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	40.00000	480.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3319	1	Terminix International	Faye Lively				12.0000	40.00000	480.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
24	Recycling Center Pest Control		910-59	Pest Control (Incl. Termite Inspection and Control, Bird Pro	12.0000	MO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
323	2	Yates Astro Pest Control	M Williams	5678			12.0000	30.00000	360.00	
685	2	Cox Termite & Pest Control	K Potts	2095			12.0000	35.00000	420.00	
3246	1	Allgood Pest Solutions	Kevin Bass				12.0000	15.00000	180.00	
3274	1	Orkin, LLC	Pamela Morris				12.0000	50.00000	600.00	
3319	1	Terminix International	Faye Lively				12.0000	75.00000	900.00	